 

( An object changes its state of matter by simply having an increase in KE or a decrease in KE.

· If we have ice at –10 C, how do we change it to a gas?

1) Raise the temperature to the melting point 

(0( C).

2) Cause the ice to melt

( At 0( C, H2O freezes and ice melts. We must cause the ice to take on energy, yet have no increase in temperature. This amount of energy is called heat of fusion.

3) Once all the ice has changed to water, raise the temperature to the boiling point (100( C).

4) When we are at 100( C, we must cause the water to boil (change to a gas).

( Water will boil (liquid to a gas) and condense (gas to a liquid) at 100( C. We must cause the water to take on energy, yet have no increase in temperature. This amount of energy is called heat of vaporization.

5) Raise the temperature of the steam to the final 

    desired temperature.
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